Soustraction Avec Un Zeéro (I)

1000
- 528

10 000
- 4441

1000
-960

10000
- 995

1000
-723

10000
-8710

1000
- 745

Calculez la différence.

10 000 1000
-2118 - 824
1000 10 000
- 286 - 448
1000 1000
- 358 -502
10 000 10000
-8611 - 3862
10 000 1000
-3451 - 664
1000 10000
-435 -1959
1000 10 000
-913 -4992

10 000
-4 270

1000
- 708

1000
-711

10 000
-3903

10 000
- 156

10 000
-7 833

1000
- 557
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Soustraction Avec Un Zéro (I) Réponses

Calculez la différence.

1000 10 000 1000 10 000
- 528 -2118 - 824 -4 270
472 7 882 176 5730
10 000 1000 10 000 1000
-4441] - 286 - 448 - 708
5559 714 9 552 292
1000 1000 1000 1000
-960 - 358 -502 -711
40 642 498 289

10 000 10 000 10 000 10 000
- 995 -8611 - 3862 -3903
9005 1389 6 138 6 097
1000 10 000 1000 10 000
-723 -3451 - 664 - 156
277 6 549 336 9 844
10 000 1000 10 000 10 000
-8710 - 435 -1959 -7 833
1290 565 8 041 2167
1000 1000 10 000 1000
- 745 -913 -4992 - 557
255 87 5008 443
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